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Sub—$Section I: Numbe of Cuestion =20
DIRECTIONS for guestions 1 to 3: Answer these
questions based on the table given below,

The following table provides the data on the different
courtries and location of their capitals. Answer the

llowing questions on the bass of this table,

2. | Counxy C aputal Tatiude | Lengiude
Ho.

1 Argertina Buenos Adres | 34303 | 3220E

2 Sustralia C atthetta 35153 |14908 E
3 Austria Vietia 4z 12H [ 1622E
4 | Bulzaria Sofia 4245 [ Z320E

5 | Brazi Brasilia 15473 |47 55E
] Catada Otawra 452TH [ T542E
7 Cattbodia Phwoin Penh 1133N [ 10435E
& E quador Caito 0153 TRI5E
Q Ghatia Accra 535 H N6k

10 | Iran Teheran 3544H | 5130E
11 | Ireland Dnablin 5320N |6.18E
12 | Librra Tripoli 3249 (1307F
13 | Malaysia Fudal ampny | 394 10141 F
14 | Peru Lima 120553 [¥70E
15 | Poland Warsaw 5213W |21 0E
16 | Hew Zealand Wellington A 175 | 17440 E
17 | Baud Arakia Riyadh 2441 H | 462 E.
18 | Spain Ilackid ANz5 N 545
19 | =i Lanka Calombio 636 H [TRIEE
20 | Zanbia Lusaka 1528 3\ | Z8)ladE
L. What percentage of cities Jacated within 10°E

and 40°E (10-degree East and 4 0aleores East)

lie in the Southern Hemisphees?

a 15%

b 0%

c. 25%

d. 30%

2 The muwberaf aties whose names begin with
a consorant ) and are in the Mothem
Hétrephere in the table
a. ‘exceeds the nurber of cties whose names

begin with a consonant and are in the
southern hermisphere by 1

B exceeds the mumber of cities whose narmes
begin with a consonant and are in the
southern herrm sphere by 2

c. is less than the number of cities whose
natnes begin with a consonant and are in
the sast of meridian by 1.

d. islessthan the moumber of countries whose
tiatne heging with a consonant and are in
the east of the mendian by 2.

3 The mtio of the rmumher of countries whose
natne starts with vowels and located in the

southem  Hempsphere, to the mumber of
courtries, the rame o whose capital cite starts
with a wowel in the table abowve is

a a2

b, 3

c 3l

d 4.3

DIRECTIONS for guesiions from 440 11: Fach
ttem 1z followed by two statementepd and B, Answer
gach questions uaing the following instracti ons,

Choose 1 ifthe question cattbe answered by one of the
staternents alone tut not by the other,

Choose 2 if the guestion cdh be answered by using
gither statemert along

Choose 3 ifethe questioh can be answered by using
hoth the staternents together, but cannot be answered
try us gither staternent alone.

Chodge 41Hthe question cannot be answered by ether
offthe staternents.

4. In a hockey match, the Indian team was behind
by 2 goals with 5 minutes remaining, Did they
wity the match?

&, Deepak Thalour, the Indian striker, scored
3 goals in the last five mitutes of the
tratch.

B. Korea scored a total of 3 goals in the

tratch.

1

2

3

4

5. Four students were added to a dance class.
Would the teacher be able to dwide her
students evenly into a dance team {or teams)
of &

& If 12 students were added, the teacher
could put everyone in teams of 8 without
any leftowvers,

B. The nunber of studerts in the class is
currently not divisible by &

R

H

1
2
3
4
=7
CEE v+ LAy =4
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1
2
3
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11.

A dress was ilitially listed at a price that

would have given the store a profit of 20

percert of the wholesale cost.

What was the wholesale cost of the dress?

A After reducing the listed price by 10
percent, the dress sold for a net profit of
10 dollats.

B. Thedress sold for 50 dollars,
a 1
b, 2
c 3
d 4

Iz 500 the awerage (arithtnetic mean; score on

the GIWVATY

A, Half of the people who take the GLAT
score above 500 and half of the people
score below 500,

B. The highest GIWAT score iz 800 and the
lowest scoreis 200.

OSR EERR0 SR
S
W
—

2
3
d 4
People in a dub either speak French of
Fussian or both, Find the munber of pedpléin
a club who speak only French
A, There are 300 people in the cdub and the
munher of people who spealg both Frernch
and Fuszian is 196.
B. The mumnber of peogle wilo speak only
Fussanis 53
1
2
3
o4
A sum of PR EGE500 was divided among
Jagdish Rurdh and Gitich. Who received the
AT atTain?
A agidish received 2/9 of what Punit and
Girish together receted.
B "Funit received 3/11 of wiat Jagdish and
Girish together receted.
|

o oo

oo oR

2
3
4

DIRECTIONS for guestions 12 to 17: Answer the
questions independent of each other. ..

11,

Four stdents (Ashish, Dlanra), Felix and
sameer) sat for the Common Entrance Exam

13

14.

for Management (CEEND). One student got
admizson offers fom three Mational Institutes
of Managerment (MNIWD, another in two NI,
the thitd in one MNIM, while the fourth got
tiotie. Below are some of the facts about who
got admission offers from how maty Ms
and what 1z their educational background.

1. The one who is an engineer didn’t get as
trany admissions as Ashish,

2. The one who got offer for adimissions in
two MMz ian't Dhatraj norfis<he a
chattered accountant.

3. Batmeetisan econotrist.

4. Dhatraj isn’t an enginesr atd received
tnore adtission offerd than Ashizh.

5. The medical doctor ot the fnost mumber
of admission offers.

Which e of the)\fdlowing statements is

necessanly true?

a. Ashishdana chadered accountant and got
offer for affmission in thres NTs.

b, Dhanraj iz & medical doctor and got
admi sgion offer in one MILL

C. ‘mameet 15 an  economist  who got
adimizsion offers in two NIV,

d. \Feliz who iz not an engineer did not get
any offer for admission.

Five boys went to a store to buy sweets. One

boy had Fs 40, Another boy had Ez. 30, Twao

other boys had Fs 20 each The remaining
boy had E= 10 Below are some more facts
ghot the initial and final cash positions.

1. Alam started with more than Tugrm;.

2. Bandeep spent K. 1.50 more than Daljeet.

3. Ganesh started with more money than just
only one other person.

4, Daijest started with X3 of what Sandesp
started wath.

5. Alarmn spent the most, but did not end with
the least.

6. Jugraj spent the least and ended with mmore
than Alam or Daljest.

7. Alam spert 10 times more than what
Ganesh did.

In the choices given below, all staternents

except one are false Which one of the

followang staternents can be troe?

a.  Alam started with E=40 and ended wath
RFs9.50

b, SBandeep started with F=30 and ended
with Rz 1 .0t

c. Gatesh started with Rz 20 and ended with
Es4.00

d. Jugraj started with =10 and ended with
Rs7.00

In a hospital there were 200 Diabetes, 150

Hyperglycaermia and 150 Gastro-ententis

patients. Of these, 80 patients were treated for

both Diabetic and Hyperglycaemia Sixly




15.

16i¢

patierts were treated for Gastro-ententis and

Hyperglycaernia, while 70 were treated for

Diabetes and Gastro-enteritis. Sotne of these

patients have all the three dizssases Doctor

Dentis treats patients with oy Diabetes

Doctor Hotrds treats patients with  only

Hyperglycaernia and Doctor Getard  treats

patients with only Gastro-enteritis. Doctor

Paul iz a genemlist Therefore, he can treat

patients  with rwltiple diseases. Patients

always prefer a specialist for their diseasze IF

Dt Dends had 80 patients the other three

doctors can be amanged in terms of the

tumnber of patients treated as:

a. Paul > Gerard > Hormi s

b, Paul > Hortmig > Gerard

c. Gerard > Paul » Hormis

d. none of'these

Three children won the prizes in the B ournvita

Quiz contest. They are from the schools;

Loyola, Convent, Little Flowers, which are

located at different cities. Below are some of

the facts about the schools, the children the
city they are from

1. One ofthe children iz Bipin,

2. Loydla School’s contestart did not come
first.

3. Little Flower's contestant was ramed
Riaz.

4 Convent School is not in Hyderabad.

The contestant fom Pune tools third place.

f. The contestant from Pune is not™fem
Loyala Schoal,

7. The contestant from Bangaldre did not
come first.

8. Conwent School’s contestant’ s name1s not
Balbir, Which of the fllowing satements
1z true?

a. 1% prize: Fiaz (Little Flowérs), 22 prize:
Bipin (Comvert), 35 prize  Balbir
(Ll:ujn:ula}

b, 17 prizenBipin (Lotvent), Vi prize; Fiaz
(L1ttle Flowerslh ™ prize: Balbir {Lnynla}

. 1™eize Fiaz (Little Flowers), P prize:
E altdr(Lnj.rDla}, T prize: Bipin (Coovent).

d. W\ Puze fgm((}unvent}, P prize: Balbir
(Lnynla} prize: Fiaz (Little Flowers).

Twonboys are playing on a groun. Both the

hisrs are less than 10 years dld. Age of the

younger boy iz equal to the cube root of the
product ofthe age of the two boys. Ifwe place
the digit representing the age of the younger
hoy to the left of the digit representing the age
ofthe elder hoy, we get the age of the father of
the younger boy. Sitnilady, we place the digit
tepreserting the age ofthe elder boy to the left
ofthe digit representing the age of the younger
boy and divide the figure by 2, we get the age
of the mother of the younger boy. The mother

Lh

17.

of the younger boy is younger than his father
by 3 wears. Then, what is the age of the

younger hoy.
a 3
b 4
c. 2

d. none of these

Flights & and B are scheduled from an airport
within the next one hour All the booked
passengers of the two fights are waiting in the
boarding tall after checls-in The Wall“has a
seating capacity of 200 out offadiich 1054
remained vacant. 40% of the wathin passengers
are ladies. When boarding, armipuncements
catme. Paszsengers of flightz A [8ft the'hall and
boarded the flight Seating capacdity of each
flight iz two-third(of the §@Essengers who
waited in the waiting hall for both the flights
put together. Half the pasfengers who boarded
flight A arg™memen. A fer boarding for flight
B, there iz ofie aithostess in flight A, then,
whatdepthe ratio/of empty seats in flight B to
mumher of airhostesses in fight A7

b 1

51

2071

1:1

£ oo W

DIRECTIONS for equation 18 to 21: Answer these
questions based on the information given bel ow,
A country bas the following types of traffic sigrals.

3redlights = stop,

2 redlights = turn left;

| red light =tum nght,

3 green lights = go at 100 lanph speed,
2 green lights = go at 40 krnph speed,
| greenlight = goat 20 kmph speed.

A motorist startz at a point on a road and follows all
traffic sgnals literally. His car is beading towards the
north. He encounters the following signals (the time
mmentioned in each case below iz applicable after
crosang the previous signal),

18.

statting Point — 1 green light;

After half an hour, 1% signal -2 red & 2 green
lights;

After 15 mirtes, 22 signal —1 red light,

After bl f an hour, ¥ signal -1 red & 3 green
lights;

After 24 mimites, 4™ signal -2 red & 2 green
light

After 15 mitmites, 5P signal —3 red lights;

The total distance traveled by the motorist
from the starting point till the last signal is:

a. B0k

b 100k

c. 120kan

d. none of these




19 What iz the position (radial distance) of the

tnotorist when he reaches thelast signal:

a. 45k directly notth of Statting Point.

b 30 lm directly to the east of the Starting
Foint.

c. 50 km away to the northeast of the
otarting Point.

d 45 km away to the northwest of the
otarting Point,

0. After the starting point if the 1™ signal were 1

redand 2 green lights, what would be the final
position of the motorist:
a. 30 knto thewestand 20 lan to the south.
b, 30 knto thewest and 40 lan to the notth.
c. 50 lanto the east and 40 lon to the notth
d. Directly 30k to the east

21 If at the starting point, the car was heading
towards south, what would be the fimal
position motorist;

a. 30 lanto the east and 40 ko to the south.
b, 50 lan to the east and 40 ko to the south.
c. 30 lanto the west and 40 lan to the south.
d. 50 lanto the west and 20 lan to the narth.

DIRECTIONS for questions 22 to 27: Answer these
questions bazed onthe tables given belowr

There are 6 refineries, 7 depots and 9 districts. The
refineries are BB, BC, BD, BE, BF and BG. The
depotzare AR, AC, AD, AF, AF and AG, The districts
re AAA AAR AAC AAD, AAF AAF AAG AAHS
and AAL Table & gives the cost of transporting one
it from refinery to depot. Table B gives thedoshof
transporting one unt from depot to a district,

Tahle- A

BB B(C BD BE BF BG
Af S JE3TE | T E | SERR oes o &00.1
AB | 3111 | 5967 | 8857 | TSRO 700 | 939
AC 4511 1] 3201 | 7E01 F20T 10001
AD Ky} 1501 | 350.10) 7501 ai0.4 | 980.1
AE 11373 | 3145 | @ 115%7F | 11577 | 10254
AF al7.1 Jlad | 788 SNWa5e | 10659 | 40635
AG | 8443 | 2992 3T | 10931 | 10931 | 6239

AA AB AC AD AFE AF AG
FEER EEE S N ) C R R TR4E | 5372
AAB | 5327 B05E | 2845 | 7905 | 952 B596 | 442
AAC [(SDR7NTE02 [0 45731 2057 | 5491 [ 331.5
AAD | 232005621 [ 2852 | 2754 | 3288 | 5253 | 8132
AAF 3451 | 2686 [ 3182 | 1632 | 5559 | 4131 | 2208
AAF | 45001 [ 8443 | 3462 [ 3T23 ) 9553 | 4029 | 391
AAC (85450 So6T | 227 ) BEAT | 3EYA | 5485
AAH (2041 | 1496 [a272 | 3804 | 10055 | 5372 | 496.1
AAT | &dE 255 4[5 (1377 ) T | 1122 | 1615

22 What 15 the least cost of sending one unit fom
aty refiney to any distict?
a. 952
b @
e 2057
d. 2845

23 What 15 the least cost of sending one unit from
ary refinery to the dstict AABRY

a 0
b, 2845
c. 09532

d. none of these
oy What 15 the least cost of sending one unit from
tefinery BB to ay district?

a. 2545
h. 3111
co 4511

d. MNone ofthese
25 What iz the least of cost of ssfiding ohe unit
fom refinery BB to district Aad A7

a 7asn
b 11373
co 11543
d. none of these
28, How many possible wags@re there for sending
one unit famvany refinery to any district?
a 63
b 43
c. (o4
d G¥3

R The largest cost of sending one umt fom any
refinefy toany districtis

B 21720
b, 21930
c. 2091.0

d. none of these

DIRECTIONS for gquestion 28 to 31: Answer these
questions based onthe table given below

The following table gives details regarding the total
garning of 15 employees and the number of days they
worked on cornplex, medivm and simple operation in
the month of June 2002 Ewen though the employees
tave worked on an operation, they would be eligible
for earnings only if they have minimom level of

efficiency.

ota | Darnnpy otal Ll
Frop. Ho. | Complae |BEdum [Smpls] Total JCompls
2001147 @208 B3G. 57 1951 .00
2001143 51453 Hol.7H51326]) 333
2001143 171.71 TRA0|25081) 5.50
2001150( 100.47 HOT 47597 a5 6.00
2001151 59443 15964 Ta40a] 967
2001156 &970 gouorn | &0
2001158 47231 |109.73 Sga04] 1.39
2001164 40225 |F35.23Q@13.607351.14 5.27
o0l 170l 576,57 STGATL 2100
2O01171( 28648 610 2R357] 238
2001172 512.10 11746 62956 1 1000
2001173 1303 88 303849 25 50
2001174 101794 017948 26 00
2001179 4656 |FPG. 19 G225 2.00
2001180 11640 136379 37919 500

28, The murber of employees who have eamed
more than 50 rupees per day in complex
operations is:

a 4
h. 3




a0

30.

3l

. 5

d 8

The number of employees who have eamed
tnore than 600 rupees and have more than 50%
attendatice (there are 25 regular working days
in June 2002, some right be coming on
ovettimetoo) is:

mo o
o S T

The employes tmumber of the person who has
garned the masinmim eamings per day in
tnediumn operation is

a. 20011s0
b, 2001164
c. 2001172
d. 2001179

Among the employees who were engaged in
corplex and medium operations, the number
of employees whose average eaming per day
in complex operations is more than average
earming per day in medivm opermtionis

o0 o
f I T S

DIRECTIONS for questions 32 to 39: Answer these
questions based onthe table given below,

The following table showes the revenue and expenses in
millions of Furo: (Furopean ocurrency) asso@iated,
FEPE0L YPF company’s oil and gas actiwtie® in
operations in different parts of the world for the wear

1998-2000.
l;. B Weq Total Bpan] North  Phrgeninalbeste§ Dor | 1% ih | Pest ot
o Workd Afris & Istin |Past] S | WErd
Middls
Fast.
T Fomm = LN L P TN e
ol I | 33 Lik e a4 js01 ) 4o a1

N0 EEIE |3 1150 35 w1 fez] o n

k3] k] JE) Ll I R 13

Frparen bk
1509 | 48 315 16 | L1 j20 | 5 i3

Ircomn mim Tams 3
s Charg ( Bnenmer L399 1375 |07 41 55 BURN B s kX

I GF IR0 +6d3 | 351 T 1500 palil iy IR -1
e 1 . 10t 33 -3 £l L -3

330 | 430 a0 s | o7 faaf oo | o
] o1 TIT -3} EJ X[ -

LA AR T 5 liz 338 L EEA -3
[Zinf 13| 136 it 1110 D RUE] 1

[T HetTcemdaten) Lo % 15 T 1 BT U L -7
Tomme Sz QLSRN Sl L] 172 Jnn R N 3k
B HH UL By i 35k 139 1o Jlao) o -1
based Oy Ie fable above, auswer fhen fillowing
GUESLIONE.
32 How many operations (Spain, Morth, Aftica

33

and Mhddle East .. of the company
accounted for less than 5% of the total revene
earned in the year 19957

a 2
b, 3
c. 4

d. none ofthese
How tmany operations (Spain, Morth Aftca
and Widdle East ..y of the company withessed

35

36

35

39

tore than 200% revenue from the year 1999
to 20007

a 1
h 2
c. 3

d. none of these

How many opetations registered a sustained
veatly increase in incotne before tases and
charges from 1998 to 20007

a 3
h 4
c. 5

d. none of these

Ianoring the loss maldng aperatians of the
cornpany it 1998, for héw mahy operations
was the percentage incréase in net incotne
before taxes and (charges tEgher than the
average from 1998 1o, 1995%

a 0
h 1
c. 2

d. nane ofthesg

If grofitability iz defined az the ration of net

incomne affer tazes and charges to expenses,

wiiich ofthe following statements 15 trus?

a ke Far East operations witnessed its
highest profitability in 1995,

b, The Morth Sea opemtions increased its
profitability fom 1995 to 1999,

c. The operations in Argentina witnessed a
decrease in profitability fom 1998 1o
1939

d. Both 2and 3 are true.

In the year 2000, which among the following

courtries had the best profitabality?

a.  Morth Aftica and Widdle East

b, Spain
c. FesofLatin Ametica
d. FarEast

If efficiency is defined as his ratio of reverne
to expenses, which operation was the least

efficient in the year 20007
a.  Spain

b, Argentina

c. FarFast

d. Mone ofthese

Of the following staternerts which one iz not

true?

a. The operations in Spain had the best
efficiency in 2000

b, The Far East operations withessed an
efficiency  improvernent from 1999 to
2000.

c. The MNorth Sea operations withessed an
efficiency  improvernent from 1998 to
1993,

d. Inthe year 1993, the operations in Fest of
Latin Ametica were the least efficient.
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DIRECTIONS for guestions 40 to 42: Answer these
questions based on the table given below.

The table below gives infortmation about four different
crops, their different quality categories and the regions
where they are cultivated. Baszed on the information
given in the table answer the questions below

Type of Crop Crua lity Region

Crop—1 High Rl R2E3R4RS
ledivm Re BT HE
Low ES RI10.R11

Crop—2 High F5,RE R12
ledivm RO.R1Z
Lowr R

Crop—3 High F:Re RIR13
ledivm F=.R9.R11
Low El1 B4R

Crop High F3,RI0,R11
Mledivum R1,RiR4
Lo | S

40. How many regions produce medivm qualities
of Crop —1 o Crop -2 and also produce low
gquality of Crop -3 or Crop —47

a. fetmn
h. One
c. Two
d. Thtee

41. Which of the follovang statetnerts i thae?

a. All mediun quality Crop-2 producing
tegions are also high quality Crop-8
producing regions

b All high gquality Crop-1 producingdeg dns
are also  medivm and  low PCrop-4
producing regions.

c. There are exactly four Crépsd producing
regions, which also produce Crop-d bt
not Crop-2.

d. BSome Crop-3 produdng regions produce
Crop-1, but notdngh quality Crop-2,

42, How many low qualitiesCrop-1 producing
regions are eithes “high quality  Crop-4
producing degions or medium quality Crop-3

producing regionsy
a. UOng

b T

c. (Thres

thy, Zer

DIRECTIONS for questions 43 to 44: Answer these
guestions baszed onthe pie charts given below.

Chart 1 shows the distritution by walue of top 6
suppliers of WIFA Textiles in 1995, Chart 2 shows the
distnbution by quantity of top 6 suppliers of LIFA
Teztiles in 1995, The total valueis 5740 million Furo
(European currency). The total cuantity is 1.035
rillion tunes.
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43 The courtry which bas the Hghest average

ptice, is
a. US4
b Switzedatii
c. Tutkey
d. India
44 The awverage price 1z Fum/kg for Turkey is
roughly
2. 6. 20
LR
G 4. 20
d. 450

DIRECTIONS for questions 45 to 50: Answer these
questions based onthe chart gwven belowr

The chart given below indicates the amnual sales tax
revenue collections (in crores of rupees) of seven
states from 1997 to 2001, The walues given at the top
of each bar represents the total collections in that year,
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45, If for each wear, the states are ranlzed in tenms
of descending order of sales tax collections,
how many states don’t change the ranking
more than once awver the five years.

1

s oo

5
3
4




47,

45,

49,

50,

Which of the following states has changed its
relative ranlang most number of times when
you ratil the states in terms of the descending
volume of sales tax collections each yeat?

a. Andhra Pradesh

b, Uttar Pradesh
c. Kartatalsa
d. Tamil Madu

The petcentage share of sales tax revenue of
which state ha sincreased from 1997 to 20017
a. Tatnil Madu

b, Karnatalsa

c. Cujarat

d. AndhraPradesh

Which pair of succesasive years shows the
tradmun  growth mte of tax revenue in
Ilaharashtra?

a. 1997to 1998

h. 199Eto 1999

c. 1999ta 2000

d. 2000to 2001

I[dentifir the state whose tax revenue increased
exzactly by the same amount in two successive
pair of yearsY

a. Karnatalka

b, West Bengal
c. Uttar Pradesh
d. Tamil Madu

Which state below has been maintaining a
constant ranl ower the years in temms of ité
contribution to total tax collections?

a. Andhra Pradesh

b, Karnatalza

c. Tamil Madu

d. Tttar Pradesh.

Nigaber of Guestion = 50
DIRECTIONS for questions 51 w"60: answer the
gquestions independent of each othen, ..

5l

51

How many fiwmbers greater than 0 and less
than a pullion camvbe formed with the digits 0,
Tand ¢

W Y]
b L0054
iy, T2E

i none ofthese
IFypgr = 1, the walue of the expression
1 | |

+

+ iz ®
l+p+g? leger?t lar+pt el
to
a ptgtr
p L

pg+y
c 1

" plepler!

53

35

56

55,

50,

T _ @™ where n is an integer =0, is divisible

13

127

559

d. none of these

In how maty ways is it possble to choosze a
white squate and a black square on a chess
board so that the squares must not lie in the
satre row or colutnn?

oo

a  5h
b, EDA
c. Al
d. 768

If u, v, wand m ate natudl mambersomch that
Ut + v = W, then one ef the following is
true.

a2 ey, v, WY

b, = mnfu, v, W

C.tn2 i (s, W

d. noneof these

Onlygampeitigle mil tracls exdsts hetween station
A and B on a ratlway line. One hour after the
northybound super fast train M leaves station A
fanystation B, a south bound passenger tram 3
reaches station A from station B, The' speed
ofthe super fast trainis twice that of a norrral
express train E, while the speed of a passenger
train 3 is halfthat of E. On a particular day N
lewres for station B fromm Station &, 20
mintes belind the normal schedule In order
to maintain the schedule both N and 3
increased their speed. If the super fast train
doubles itz speed, what should be the ratio
(approzimately) of the speed of passenger
train to that of the super fast train so that
passenger train B reaches exactly at the
scheduled timeat station A on that day.

a 1.3

b 1:4
c. 1:5
d 16

Instead of walling along two adjacent sides of
a rectangular field, a boy took a chort cut
along the diagonal and saved a distance equal
to half the longer side. Then the ratio of the
shorter sideto the longer sideis

a 1/2
b 23
c. 14
d. 3

The area of the tnangle whose vertices are (a,
an, (33+ l,bat+ ,fa+2,a)is

a g

b1

c. da

d. 214

A trmin approaches a tunnel AB. side the

tuntiel is a cat located at a point that is 35 of




fil.

the distance AR measured from the entrance
A When the train whistles the cat runs If the
cat rowes to the entrance of the turmel, & the
train catches the cat exactly at the entrance. If
the cat tmoves to the exit, B, the train catches
the cat at exactly the exit. The speed of the
train iz greater than the speed of the cat by
what ordet?

a 31

b 41

|

d. none ofthese

Hiz persons are playinga cand game. Suresh is
facing Raghuhir who iz to the left of Ajay and
to the right of Pramod. Ajay is to the left of
Dhiraj. Yogendr iz to the left of Pramod. If
Dhiraj extchanges his seat wath Yogendra and
Pramod exchanges wath Raghubir, who will be
sitting to theleft of Dhirs ¥

a. Togendra

b, Raghbir
c. wuresh
d. Ajay

DIRECTIONS for questions 61 amd 62: Answer
theze questions based on the infonmation given below,
Fach ofthe 11 letters & H, LW, O, T, 1T, W, W, Xand
£ appears same when looked at in a mirror. They are
called syrumetric letters. Other letters in the alplabet
are asynunetnc letters,

fil.

il

How many four-letter computer passwiornds'can
be formed using only the symmetri© letters (oo
repetition all owed)?

a. 7920

b, 330

c. 14840

d. 418430

How many three-lefter computer passwords
catl be formed Guegepetition allowed) with at
least one swthenetic letter?

a. 990

b 2780
o L2870
d. 15800

DIRECTIONS for guestions 63 to 75:
Answenthe questions independent of each other.. .

fi3.

After the division ofa nunber successively by
3,4 and 7. the remmainders obtained are 2, 1
and 4 respectively. What will be the rernainder
1f 84 disdes the satme mambet?

a. &0

[
c. 41
d. 53

f5.

it

fiE.

fi.

Three pieces of cakes of weight 4%6% JLaF]

and ?’% bz respectively are to be divided into

parts of equal weights, Further, sach part must
be as heavy as posable If one such part is
serwed to each guest, then what is the
tradmum munber of guests that could be
entertained?

a 54

b 7

c. 20

d. none of these

At a bookstare, “WMODERM BROKNSTORET
15 flashed using neon lights. The words are
individually flashedat intereals of 2%,4&,5%
seconds respectively ahdsach word is put off
after a secosdy The least time after which the
filll narme of ghe bookstore can be read again
iz

a (495 seconds

b 3.5 ssconds

con 174875 seconds

i 855 seconds

The rurher of real roots of the equation

1
HT+%=1 where A4 and B oare real

tnanbers not equal to zeto drltaneously is

a. HMone

b1

c

d Lol

When 2% iz divided by 17 the remainder
wold be

a 1

b 14

c. 14

d. none of these

10 straight lines, no two of which are parallel
and no tlree of which pass through any
conumon point, are drawmn on a plane. The total
munber of regions (incuding firmte and
infinite regions) into which the plane would be
divided by the linesis

a 56

b, 255

c. 1024

d. notunique

supposze, for any real nmumber xz, [%] denotes
the greatest integer less than or equal to x. Let
Liz, y) =[] + [y] + [z + ¥] and R(x, y) = [4x]
+ [2¥]. Then it’s inpossble to find any two
positive real numbers x and ¥ for which

Lz yi=kRz

Lz, y) = Rz ¥)

Lz y) < Rz, ¥)

Liz ) » Rz ¥)

oo W
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T

73

4.

A child was asked to add first few natural
mumbers (that i, 1+ 2+ 3 . so0 long his
patience pertnitted. Az he stopped, he gawe the
sutn as 575 When the teacher declared the
tesult wrong the child discovered he had
trizsed one number in the sequence during
addition. The rtriber he tizzed was:

a. lessthan 10
b, 10
c. 15
d. tmorethan 15

A car renital agency has the following terms. IF
a car iz rented for 5 hours or less the charge is
60 per hour or Fa 12 per ldlometer whichever
is tnore. On the other hand, if the car s rented
for mare than 5 hours, the charge iz Fs 50 per
hour or Es7.50 per Kilometer which ewer is
more. Aldl rented a car fom this agency,
drove it for 30 ldlometers and ended up paying
F2.300. For how many hours did he rent the
Car?

a 4
b, 3
c. B

d. none ofthese
Amnl was asked to calculate the anthrmetic
mean often postive integers each of which had
two digits. By mistake, he interchanged the
two digits, say a and b, in one of these ten
integers. As a reqult, hiz answer for the
arithtmetic means was 1.8 more than what it
should have been. Thenb —a equals
a 1
b, 2
c. 3
d. none ofthese
Ifx? + 5v° + 2% = 2w 2z +E) theh wiich of the
following staternents are necessarily tre?
. E=dy

x=1z

x=z

Ol &

Cnly Bland @

Oz and B
i, anoneof these
Leb\S Beote the infinite sum 2 + 52 + 0= +
b+ 202 + ., where x| < 1 and the

toefficient of 2 is %n[n+ 3.in=1,2,..0.

I = = B = B

Then 3 equals
i-x
(1-x7

b 2—x3
[1+xj
2+x

75

2+x
1+ xf

chyamn wisited Fam on vacation. In the
mornings, they both would go for yoga. In the
evenings they would play tennis. To have
mmore fun, they indulge only in one actively per
day, ie, cither they went for yoga or played
teniz each day. There were days when they
were lazy and stayed home all day long. There
were 24 mornings when they did notbihg, 14
evenings when they stayed at homegand a total
of 22 days when they did wega ofyplayed
teri s, For how roany days Shyari stayed with
Fam?

3

24

30

none of these

oot R

DIRECTIONS for quesions 76 amd 77 Answer these
quastions based onhie infbrmation given below.

A hoy is adked to ptiin a basket one mango when
ordered "One’, ong orange when otdered “Two’, one
appleswhien ordered “Three' and is agzed to take out
fom thée tEsket one mango and an orange when
atdered Four™ A sequetice of orders iz givenas:

T

12332142514223314113234

How many total oranges were in the basket at
the end of the above sequence?

a 1
b, 4
co 3
d. 2

How many total fiuits wall be in the baslet at
the end of the ahowe order sequence?

a o
h. &
c. 11
d 10

DIRECITONS for guestions 78 o M: Answer the
guestions independent afeach athar.. .

TE.

A rch merchant bad collected many gold
coins. He did not want aryhody to lnow aboat
themn Cne day, hiz wife asked, “How many
gald coins do we have!™ After pausing a
moment, he replied, “Welll If I divide the
coins into two unequal nuenbers, then 48 times
the difference between the two nurmbers equals
the difference betwesn the squares of the two
turhers.” The wife looked puzzled. Can you
help the merchant’s wife by finding out how
trany coing the merchant ha 87

il

53

43

none of these

oo




&0.

al.

8.

83

85,

On a straight road XY, 100 metres long, five
heawy stones are placed two tmetres apart
heginning at the end X A wotker, starting at
¥, tas to transport all the stones to ¥, by
cattying only one stone at a time. The
trinitrnn distance he has to travel (in metres)
iz

a. 472

b 422

e 744

d. 344

Four horses are tethered at four corners of a
squatre plot of sde 14 metres () so that the
adjacent horses can reach oneanother. Thereis
a strall circular pond of area 20 m® at the
ceritre. Theatea lefl unglazedis

a  22m?

b, 42m’

c. 84m’

d. 165m’

If iz =log{(I+xi1a0y, then £330 + fiy) is

a fiz+wm

b f{lz+ v +xy0)

o (x+ i 1+ xy))

d. )+ fy)dl+xy)

The length of the commeon chord of two circles
of rmadii 15 cm and 20 cm, whose centers are
25 cmapart, is(cmy

a 24
b, 25
c. 15
d. 20

In a trangle ABC, the intemal bisectar of the
angle A meetzsBC atD. [FAR =4, AC =3 and
L8 =60 then length of AD 15

a. E!sﬁ
b, 12377
c. 154378

d. 6377

If there are “10Wpostive teal marhers
f1 < g <@ Enn. How many triplets of
these tarnbets (1)t f), (to, s, tg), ... can
he genetated such that in each that in each
il etthe first nurnber 12 always less than the
secand tnber, and the zecond mynber is
Al less than the third rmurber?

2 45

B 90

e 120

d. 180

3 small punps and a large pump are filling a
tanlz Fach of the three strmll pumps workes at
2/3rd the rate of the large pumnp. Ifall 4 pumps
wotls at the sarne time, they shoidd 11 the tank
i1 what faction of the time that it would have
talcen the large pump al one?

a. 47

b 173

B

BB

80

c. 23

A

Drawii Shop sells sarnosas in bosxes of different
dzes. The sarnosas are priced at Rsl per
satnosa up to 200 samosas. For  every
additional 20. satnosas, the price of the whole
lot goes down by 10 paise per sarnosa. What
shonld be the masitiun size of the hox that
wold mesdimize the tevenne?

a. 240
b, 300
c. 400

d. none of these

It takes 6 technicians a totab o0 holrs to
buald a new server from Direct Cormputer, with
each wotldng at the “game jate If ax
techricians start todbuild thewserver at 11.00
Al and one technician per hour is added
beginning at 5.00 Phpat what time will the
server be coftiplet£7

a.  6:40pm

b Lllprd
c. (W 20pm
d. Gpm

L a ’ E
In the above figure, ACE iz a right angled
tangle. CDv iz the altitude Circles are
insciibed wathun the tnangle ACD, BCD. P
and ) are the centers of the circles. The
distance P() is
a 5
b, 50
c 7
d B
Three travelers are sitting around a fire, and
are ahout to eat a meal. One of them has five
amnall loawes of hread; the second has three
amnall loawves of bread The third has no food,
bt has eight coins. He offers to pay for somme
bread. They agree to chatre the sight loaves
equally atnong the thres trawelers, and the
third trasreler will pay eight coins for his share
of the eight loaves All loaves wete the same
dze. The second traweler (who had three
lmaves) suggests that he be paid three coing
and that the first traveler be gaid five coins.
The fir traveler says that he chould get more
ttan five coins Flow much the first traveler
should get?
a 3
b 7
c 1
d. none of these




a0. A piece of string 1z 40 centimeters long. It is
cut into three pieces. The longest piece is 3
titnes as long as the riddle-sized piece and the
shortest piece is 23 certimeters shorter than
the longest piece. Find the length of the
shortest piece.

27

5

4

0

oo ow

DIRECTIONS for guesfons 91 to 92: Avswer these
questions based on the pllowing diggram M the
dicgraen below.

LARC = 00F= ADCH = ADOE = A/FHE = AZFKL =

ZGLM = AL,
AR =BC =1CH =2CD =EH =FK = JHEK =4KL =
AN =T
E F 5
n £
0
H C H HL M

a1, The ragitude of ZFGO =

a. 30°
b, 450
¢ 60°

d. none ofthese
9. The ratio of the areas of the two quattangles
ABCD and DEFG is

a 1:2
b, 2:1
c. 12:7

d. tnone ofthese

DIRECTIONS far guestions 93 & I00: Answer the
que stions independent dfegciiather.. .

93 Ilayants, DlirzanLittle and Jaspal bought a
tnotoriibe fos $60. 00. Wayank paid one half of
thegum el the armounts patd by the other hoys.
Ilizza pard one third of the sum of the amounts
paidhiby the other boys, and Little paid one
foupthy of the sm of the amourts paid by the
other boys, How much did Jaspal have to pay?

a 15
b, 13
c. 17

d. none ofthese

54 The owmer of a local jewellery store hired 3
watchmen to guard his damonds, but a thief
gtill got in and stole some diamonds. On the
way out, the thief met each watchiman, one ata
time. To each he gave 1/2 of the diamonds he
had then, and 2 more besides. He ezcaped wath

m5.

9g.

HE.

a9,

one  diatnond  How many did he  steal
orginally?

a 40

b 36

co 45

d. none of these

Meetaj has agreed to mow the front lawm,
which iz a 20m by 40m rectangle. The mower
tnowes a 1 m wide Strip. [FMeersj statts at one
cother and mows around the lawn toward the
center, about how many times woulld e go
round before he ta s mowed hal £l

a 25

b, 3.5
c. 3.8
d. 4.0

If z, v and z are real numberssgiuch that: =+ v
+z=>5and xv +9= + = = 3, what is the
largest walue that 3 canhasre?

a 53
b Y10
o 133

d. (fione of these

The i element of a series is represented as
A= (-1

If 7= x and ¢ > 0 then the following is
always true

a iz podtiveifniseven

b, X, iz podtiveifnis odd

C. Fpiznegativeifnis even

d. Mone oftheze

Mumber 3 iz obtained by squaring the sum of
digitz of a two digit number D If difference
between 5 and D iz 27, then the two digt
munber [ is:

a 24
b, 54
c. 34
d. 45

Ona 20 km tunnel connecting two cities A and
B there are three gutters. The distance between
gutter 1 and 2 iz half the distance between
gutter 2 and 3. The distance frorm city A to its
nearest gutter, guiter 1 is equal to the distance
of city B from guiter 3. Ona particular day the
hospital in city A receives information that an
accident has happened at the third gutter. The
victirn can be saved only if an operation is
started wathin 40 mimites An ambulance
started fom city A at 30 ko' and crossed the
first gutter after 5 mimdtes. IF the driver had
dovbled the speed after that, what iz the
traxmum amout of tirne the doctor would
get to attend the patient at the hospital?
Azaune | rmimate 1z elapsed for taking the
patient into and out of the ambulance,

a4 mittes

b, 2.5 mirmtes

c. 1.5 mimites




0
d. Patient died before reaching the hospital
100, In the figure giver below, ABCD iz a
rectangle. The area of the isosceles right
tnangle ABE = Tom?®, IFCy = 3BE) Thearea
of ABCD (in o) is:
A

\

\

E [
21

a5
41
56

Nurnber of Dvestion = 50

Directions Questions 101-105:

For each of the words below a context iz provided.
From the alternatives given pick the word or phrase
that iz closest in meaning in the given context.

R ]

101, Oppobriom: The police officer appears
otlivious to the opprobriutn generated by his
blatantly partisan conduct,

a. Harsh oriticiam

b, Acute distrust

c. Bitter enrnity

d.  Stark oppressiveness

102, Portend: It appears too many that the U3 Swar
on terroriam” portends trouble in the Gt
a. Introduces

h. Ewokes
c. wpells
d. Bodes

103, Prewvaricate: When a vidsgtape ofher meeting
was played back to her and shefwms asked to
emplain  her presénce there, she started
prevaticating,

a. Spealing evasively
b, SpeakifisSmolently

c.  Lying fisk ously

d. Thiewinga tantnim

104, Reéstiwe The crowd became restive when the
tritister failed to appear even by 10 prn

Ay, Miolent
b Angry
& Festless
d. Distressed
105, Ostensble: MWatohat"s ostensible job was to
guatrd the building at night.
a. Apparent
h. Blatant
o Osterdatious
d. Insidicus

Directions: Questions 106-109: In each of the
questions below, four different ways of wniting a

sentence are indicated. Choose the best way of writing
the zentence.

106.

&, The rrain problemm with the notion of price
discritnination is that it is not always abad
thing, but that it is the tmonopolist who has
the powet to decide who is charged what
price.

B. The train problem with the notion of price
dizcritnination iz not that it 15 alwEysabad
thing, it iz the monopolist s0H0, has“the
power to decide who is<4charged, what
price.

. The train problem with the tiation of price
discritmination 12 not that it 1s/alwaysabad
thing, but that 11fi=s the mefigpolist who has
the power to deside who iz charged what
price,

[, The neifiproblem wath the notion of price
discritningfion is not it is always a bad
thing, ‘Gt that it iz the monopolist who has
the power to decide who iz charged what
Jrice,

A
B
C
D

af S

7.

1

& symhiotic relationship develops among
the contractors, bureaucracy and the
politicians and by a large mumher of
dewvices costs are artificially escalated and
blaclke money 15 generated by underhand
deals.

B. A symbiotic relationship develops among
contractors, bureaucracy and politicians,
and costs are artificially escalated with a
large maumber of desrices and black money
15 generated through underhand deals,

C. A symbiotic relationship develops among
contractors,  bureaucracy  and  the
politicians and by a large nurber of
devices costs are artificially escalated and
black money iz generated on underhand
deals.

D A symbictic relationship dewelops among

the  contractors,  bureaucracy  and

politicians, and by large number of desrices
costs are artificially escalated and black
troney is generated by underhand deals

A

B

C

D

oo

108.

e

The distinctive feature of taniffs and export
subsidies 15 that they create difference of
prices at which goods are traded on the




world market and their price within alocal
triarloet.

B. The distinctive feature of tari ffz and export
subsidies is that they create a difference of
prices at which goods are traded with the
wortld tratket and theitr prices in the local
tniatlet.

C. The distinctive feature of tari iz and esport
subsidies iz that they create a difference
between prices at which goods are traded
ot the world market and their prices
within a lacal matlzet.

D The distinctive feature of tari ffz and export

subsidies 12 that they create a difference

actoss prices at which goods are traded
with the wotld tratket and their prices
within a lacal marlcet.

KA

B

C

D

a0 o

109,

=

Any action of govenument to reduce the

syatemic nsk inherent in firandal markets

will also reduce the nsks that private
operators perceive and thereby encourage
exCcezsve hedging,

B. Any action by govemment to reduce the
syatemic nsk irherent in firandal markets
will also reduce the nsks that private
operators perceive and thereby encourmge
exCEsave gambling,

C. Any action by govemment to reduce’the
syatemic nsl inherent due t0 firancial
markets will also reduceathe rislcs that
private opemators perceive and thereby
encourages excessive ledgig,

D Any action of gowengoent 10 reduce the

systernic sk igherent infis@ncial markets

will also reduce thegrislks that private
operators petteive and thereby encourages
exce ssiafeygarbling,

A

B

™

[

a0 o

Directions {Questions 110-115): Fill the gaps in the
passages below with the most appropriate word from
the options given for each gap. The right words are the
oties used by the avthor Be guided by the author’s
overall style and meaning when you choose the
ATEWELS.

Vo Muemmann and Morgenstern assume a decision
Famneswotls in which all options are thoroughly
considered, each option being independent of the
others, with a numerical walue derived for the utility of
gach possible outcome (these ot comes reflecting, in

tarn, all possble combinations of choices)  The
decision izthen made to maximize the expected utility.
e 1M, such a2 model  reflects  major
sitrplifications of the way decisions are made in the
teal wotld. Huransate not able to process information
as quickly and effectively as the model assumes, they
tend not to thinke (1113, as easily as the model
calls for, they often deal with a particular option
without really assessing itz (112 ..., and when
they do assess alternatives, they may be extremely
niebul onz about their criteria of evaluation.

11a.

Fegettably
Firstly
Obwiogudly
Apparently

oo

111.

Cuantitatively
Svstematically
Scienfifically
Analyiically

oo

112,

lmplications
Dizadvantages
[Jftlity
Alterratives

£ oo W

In a“large company ....(113).... people is about as
Ccoffrron as usng a gun or a switchblade to. ..
(114} ... an argqument Az a result, most managers have
little or no experience of finng people, and they find it
ermotionally traumatic, as a result, they often delay the
act interminably, much az an unhappy spouse waill
molong a bad marnage. And when the finng is done,
it’s often done clumsly, with far worse side effects
than are necessary. Do the wotld-class software
orgarizations have a different way of firing people?
Mo, but they do the deed swifily, humanely, and
professionally.

The key point here 15 to view the fired etmployee as a
failed product” and to ask how the process ..(115%. ..
such a phenomenon in the first place.

113

Disrnissing
Punishing
Finng
Admonishing

oo

114,

Eesolwe
Thmtt
Defeat
Cloze

oo

115,

Dretived
Engneered
Produced
Allowed

oo




0

Directions {Questions 116-120): The sentences gven
inn each gquestion, when properly sequenced, form a
coherent paragraph. Each sentence 15 laheled wath a
letter. Choose the tnost logical order of sentences from
arong the given choices to construct a coherent

patagraph.

116,

A Branded disposable diapers are available
at rraty supertratiets and drag stores.

B. Ifone supertrarlet sets abigher price fora
diaper, customers tay buy that hrand
el sewhete,

C. By contrast, the dermand for privatelahel
products tay be fewer prices sensifive
since it iz awvailable only at a
corresponding supermarket chain,

L. B, the denand for branded diapers at any
particular store may bhe quite price
sensitive.

E. Forinstance, only Savln Drug stores sell
savn Drugs diapers.

F. Then, =stores should set a higher
incremental margin percentage for private-
label diapers.

AR CDEF
ABCEDF
ADBCEF
AFEDBCE

a0 oW

117

Having a strategy 15 a matter of discipline

It imwolves the configuration of a aildred

value chain that enables a company o

offer wique wmlue,

It requires a strong focusanprofitability

and a willingness to male tought trade offs

in choosing what not t6 do,

D, Gimtegy goes far begofid the pursuit of
best practices.

E. A company must stag the course even
during tirnes afupheaval while constantly
improvifig and extending its distinctive
positiofing

F. Whetya Gormpany = activities fit together
as a self reinforcng  systern,  any
cotfipetitor wishing to imitate a strategy
thst replicate the whole systern

=

o

a ABCDEF
b ACEDBF
c. ADBCEF
d. AEDBCF
115
A As officlals their wision of a country

shouldn’t nan too far beyond that of the
local people with whotn they have to deal.
Arnbaszadors have to choose their words.
To say what they feel they have to say,
they appear to be derying or ignoring part
of what tlty lmow,

aw

119,

120.

oo

e

oo

=

mo, with ambassadors as wiath  other
expatriates in Hack Afhca, thete appears
at a first meeting a kind of arnbivalence.
They do a spedalized job and it is
tiecessaty  for them to live ceremordal
lives.

BCEDA

BEDAC

BEADC

BCDEA

“This face off will continug™f sevetal
months gven the strong €onviciions on
either side” says a sepdor, fofictionary of
the high-powered tad forcean drought.
Dring the past weekand-half] the Central
Government hag sought $9°deny some of
the eatlier appréhensions over the impact
of drought.

The regéfityrevival of the rains had led ta
the efnergénce of a line of divide between
thebwa;

The state govemments, on the other hand,
allege that the Centre iz dowmplaying the
crisg only to evade itz full responsibility
of financial assstance that iz required to
alleviate the darmage.

shrill alarm about the economic impact of
an imadequate monzoon had been sounded
by the Centre az well as most ofthe sates,
inlate July and eady August,

EBCD&

DBACE

BDCAE

ECBDA

Thiz fact was established in the 1730s by
French survey expeditions to Equador neat
the Equator and Lapland in the Arctic,
which found that around the midde of the
garth the are was about a lkilometer
shotter.

. One of the unsettled scientific questions in

the late 18® century was the exact nature
ofthe shape of the earth

Thelength of one-degree are would be less
near the equatonial latitudes than at the
poles.

One way of doing that is to detenrnine the
length of the are along a chozen longitude
or mendian  at  one-degres  latiode
sepatations.

While it was generally known that he eatth
as not a sphere gt an “oblate spheradd’,
tnore cwved at the equator and flatter at
the poles, the question of “how tach
mmore” way yet to be established.

BECAD

BEDCA




c. EDACH
d EBLCA

Directions {Questions 121-128): For the word given
at the top of each table, match the dictionary
definitions on the (A, B, C, I wath their
cotresponding usage on the (1, 2, 3, 4% Ot of the four
possbilities given the below, select the one that has all
the defirdtionzand their usages most closely rmatched.

121, Measure

Dictionary definition

A Bize or quantity found by measuring

B. Vessel of standard capacity

C. Suitable action

D Aszecertain extent or quantity

Usage

1. A measure was institied to prevent
cutaders from entering the campus.

2. Gheila was asked to measure each item

that wa s delivered.

3. The measure of the cricket pitch was 22
wards.

4. Famesh used a measure to take out one
liter of nil

& B C D

a. 2 4 3 1

h. 1 3 4 2

C. 1 4 2 3

d. 2 3 1 4

122, Bound
Dictionary definition

A, ohliged, constrained

B. Lirmiting walue

. Wloveina specified direction

D, Destined or certain to be

Usage

1. Dinesh felt bound totsElls out when the
dizcussion turned to lackbacs

2. Buffeted by conbmdictory forces he was
hound to losehis rind.

3. Widya sSstore)story stmins the bounds of
credulifg

4. Bdutid for a career in law, Jyol was
seluctant b study Wilton

A
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d.
123, Catch

Dictionary definition

A Capture

B. Grasp with senses or tnind

C. Deception

D Thing or person wortth trapping

Usage

1. All her fiiends agreed that Prasad was a

good catch

2. The proposal sounds very good but where

is the catch?
3. Hussein tries to catch the spint of India in
this pairting

4. Sony, [ coddn’t catch you
A B C D

a 4 2 1 3

b, 2 3 1 4

C. 3 2 1 4

d. 3 4 2 |

124, Dreal

Dic tionaty definition

A, Manage, attend to

B. Stock, sell

C. Give out to a mumber 0F people

D, Be concerned with

Usage

1. Dinesh insisted'n dealing the cards.

2. Thizs contract dealsSsith handimade cards.

3. Ny brotherdealsin cards,

4. Ideddedfiot to deal with handmade cards.
A B C D

a 4 2 3

h 3 2 1 4

C 3 | 2 4

d. 3 2 4 |

15 Clurn

Dictonary definition

A, Give new direction to

B. Send

. Change in form

L. Opportunity coming successively for each
person

Usage

1. Dtwasnowhis tumto beangry

2. Leenanever turned avway a beggar,

3. Ashish asled Lasman to tum hiz Face to

the left,
4. The old schodl bulding has been turned a
FESETL
A B C D
a. 4 2 1 3
h. 2 3 1 4
C. 3 2 1 4
d. 3 4 2 |

Directions {Questions 126-150h: Each of the five
passages 1z given below is followed by questions.
Choose the best answer for each question.

PASSAGE]
Cellz are the wWtimate multitaskers: they can swatch on
genies and catry out their orders, talk to each other,
diwide in two and much more, all at the same time, Bt
they couldn’t do any of these tricks without a poswer
source to generate mowvetnent. The inside of cel
bustles with more traffic than Delhi roads, and, like all
vehicles, the cell’s moving parts need engnes.
Fhysicists and biologists have looked “under the hood’
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of the cell and laid Out the rmats and bolts of molecular
EfLginEs.

The athility of such engines to conwvert
cherrical energy into motion iz the envy of the
natotectnology researchers looking for ways to power
tolecule-szed devices. MMedical researchers also want
to undetrstand how these engines work Because these
tnolecules are essential for cell division, scientists
hope to shut down the mrpant growth of the cancer
cells by deactiwating certain motors. Improving motor-
driven transport in netve cells may also be helpfal for
treating dissases such as Aizheitner’s, Patkinson’s or
ALS, also knownas Lou Gehng's disease

We wouldn't malee it far in life without motor
proteins. Our nmscles wouldn't cottract. We couldn’t
grow, because the growth process requires cells to
duplicate their machinery and pull the copies apart.
And our genes would be silent without tSe services of
messenger EMA, which carries genetic instructions
over to the cell’s protein-maling factones. The
movements that malce these cellular activities possitle
occur along a complex network of threadlike fibers, or
polymers, along which bundles of molecules trawel
like irame. The engines that power the cell’s freight are
three families of proteins, called noyosin, kinesin and
dynein. For fuel, these proteins burn molecules, of
ATP, which cells make when they break down the
cathohydrates and fats from the foods we eat. The
energy from burming ATP causes changes in the
proteing’ shape that allow them to heave themselveg
along the polymer tracks. The re suits are impressive: In
one second, these molecules can travel betweend0and
100 timmes their own diameter if a car with 5-footaéide
engine were as efficient, it would travel (170 ta 340
lorph,

Eonald WVale, a researcher at the Howard
Hughes Medical Institde and/the University of
Califortia at San Francisco, and Bénald Milligan of
the Scripps Flesearch instifute havebeeglized a long-
awaited goal by reconstructing the process by which
trvosin and kinesin mosenaltiost down to the atorm,
The dynein motoron the otfier hand, is still pootly
understood. DWyosimmolechles, best lnown for their
role in rmscleNootsttiction, fomm chains that lie
between filatments of ancther protein called action.
Fach myosin ielecule has a tiny head that poles ma
from theychain like oars from a cance. Just as rovwers
propel therSboat by strolang their oars tlrough the
water, he, royosin molecules stick their aars through
the water, the myosn molecules stick their heads into
the actin and hoist themselves forward along the
flament. While fyposin tnoves along it shott strolzes,
its cousin Kinesin wallkes steadily along a different type
of filatnent called a microtubule. nstead of waing a
projectitg head az a lever, kinesn walles on two “legs’
Based on these differences, researches used to think
that myosinand
lanesin were wirtually wnrelated. Bat newly discovered
girmilarities in the motors” ATP-processing machinersy

P

tnolecule. At this point, scientists can only speculate as
to what type of pimitive cell-like structare this
ancestor occupied as it leamed to bum ATP and use
the energy to change shape “We'll never really know,
hecause we can't dig up the remains of ancient
proteins, but that was probably a big evolutionay
leap,” says Wale

Oty a slightly larger scale, loner like spenmn ot
infections bacteria are prune movers that resolutely
push their way through to other cells. As L WMahadevan
atid Paul Matsudatia of the Massachusettd Thstituteaf
Technology explain, the engines indthis case are
springs of ratchets that are dusters ofmolecules, rather
than singde protein ke myfosin “and™ kinesin
Fesgarchers don't wet flly undergtand these engines’
fueling process or the details of howsthey move, ot
the result is a force to be reglconed wwith. For example,
me such engine is a spring lik® stall cormecting a
single-celled orgapi@ipycalled a vorticellid to the leaf
fragment it calls hiome When expozed to calcium, the
spring contrasts, Wanlang the vorticellid dovm at
speeds apgroaching 3 inches (8 cernfimeters) per
second,

oppings - like this are coiled bundles of
filarnenfs that” expand or contmct in response to
chermoal giies. A wave of positively charged calcium
1omg, for example, neutralizes the negative charges that
keepthe filaments extended. Some sperm use spring
like engines made of act in flaments to shoot ot a
barb that penetrates the layers that surround an egg
And certain winises use a dsimilar apparmatus to shoot
their DA into the host™s cell, Batchets are also usefid
for moving whole cells, including some other sperms
and pathogens, These engines are filamernts that siroply
grow at one end, attracting chernical building blocks
from nearby, Because the other end is anchored in
place, the growing end pushes against any barrier that
gets in its way.

Both springs and ratchets are made up of srall
urdts that sach move just slightly, but collectively
produce a powerfil movement, Ultimately Mahadevan
and Watsudaira hope to better wnderstand just how
these parficles create an effect that seemns to be so
trach tore than the sum of its parts. Wight such an
understanding provide inspiration for ways to power
attificial rano-sized dewices in the fiture? “The short
answer 12 absolutely” says Mahadevan. “Biology has
tad a lot more tirme to ewolve enommous richness in
design for different organisms Hopefally, studying
these struchres wall not  only  improwve  our
understanding of the bological wotld, it will also
etighle v to copy thetn, takoe apatt their components and
tecreate thern for other purposes™

126, According to the author, research on the powet
source of mowernent In cells can contnbuteto
a. Control over the movement of genes
within hurman systems.
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1238,

129,

130,

. Theunderstanding of nanotechnology.

c.  Arrestingthe growth of cancer in a hutran
being,

d. The dewelopment of cures for a vanety of
dizeases.

The anther has used several analogies to

illustrate his arguments in the atticle. Which of

the following pairs of words are exarmples of

the analogies used?

Cell activity and vehicular traffic.

Folytners and tram tracks,

Genes and canoes

Worticellids and ratchets

A andB

BandC

c. AandD

d AandC

Eead the five statements belows &, B, C, D

and E. From the options given, select the one

which includes a statement that iz MNOT

representative of an argument presented in the

passage.

A, Sperms use spring like engines made of

act in filament.

Ilvosin and kinesin are unrelated.

Manotechnology researchers look for ways

to power molecule-sized devices

=P oaEE
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. Mlctor proteins help muscle contraction.

E. The dynein motor iz sl poordy
understoad.

a.

h.

c. &, DandE

d A CandD

Eead the four statements bel owaga, b, coatid d.

From the options given, select the \ane which

includes  orly  staternentgs?  that  are

represertative of argumetts’ prefented in the

passage.

A, Protein motorshelp grossth processes

B. Improved tatsporbin nerve cells will help
arrest tubierculosisand cancer

C. Cells, fogether) genermte more than the
sufaof) power  generated by them
sepatately

DOVotticelid and the leaf fragment are
cornected by a caloiwn engine.

a MAandB butneot C

b A and C butnot D

c. AandD tut not B

d CandD butnotB.

Eead the four statetnents below &, B, C, and

D fom the options given selects the one

which indude  statementss)  that  ate

tepresertative of armunents presented in the

passage.

A Myaosdn, ldnesin and act in are three types
of proteins

B. Growth processes involve a rouline in a
cell that duplicates their machinery and
pulls the copies apatt.

C. Wlyosin molecules can generate vibrations
it trmzcles

D Fonald and Mahadevan are ressatchers at

IMaszsachusetts Institute of Technology.

Aand B g not CandD

B and C but not A

Band Dt not Aand C

& B and C gt rot D

oo

PASSAGE 2

The conceptions of life and the forld Swhich we call
‘philozophical’ are a producty oftwo Jactors one,
inherited, religious and ethical conceptions; the other,
the sort of mwestigationOgahdch) may be called
‘soiettific’, using this word “#17its broadest sense
Individual philosoplierhasreed fered widely in regard
to the proportions indwhich these two factors entered
itto their systns but it iz the presence of both, in
sotne degreg, that characterizes philosophy.

Phildzoply” 12 a word which has been usedin
traty waysy sotne wider, sotne narrower. [ propose to
uge it i1 a ey wide sense, which [ will now try to

gaplain

Fhilosophy, as [ shall understand the word, is
sarnething intenmediate between theology and sdence.
Like thedlogy, it consists of speculations on matters as
to which definite lmowledge has, so far, heen
unascertaimable; but like sdence, it appeals to hatnan
teasonn rather than to awthority, whether That of
tradition or that of rewelation, All definite knowledge
— g0 I should contend belongs to science, all dogma
as to what surpasses defimite kmowledge belongs to
theology. But between theology and science there is
Mo man’s Land” ex pozed to attack from both sides,
thiz ‘Mo Ian’s band’ iz philosophy. Almost all the
questions of most interest to speculative minds are
auch as science canmot answer, and the confident
answers of theologians no longer seem S0 convincing
as they did in former centuries. Iz the wordd divided
into mind and matter, and if 30, what 15 mind and what
12 matter? Is mind subject to matter, or is it possessed
of independent powers? Has the universe any unity or
murpose? [g it evolving towards some goal? Are there
really lawe of nature, or do we believe in them oy
because of our innate love of order? Iz man what he
seerns to the astronomer, a tiny lump of carbon and
water immpotently crawling on a small and vrirportant
planet? Or is he what he appears to Hamlet? Is he
pethaps both at once? Is there a way of living that is
noble and another that is base, or is all ways of living
merely futile? If there is a way of living that is noble,
ih what does it consist, and how shall we achieve it?
Iust the good be etemal in order to deserve to be
valued, or is it worth seelang even if the umiverse is
inexorably moving towards death? Is there such a
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thing as wisdom or iz what seerns such merely the
utirnate refinement of folly? To such questions no
answer can be found in the laboratory. Theologies
tave professed to give answers, all to definite; g
their definiteness causes moderty minds to view them
with suspicion. The studying of these questions, if not
the answering of thern, iz the business of philosophy.

Wy, then, vou tray ask, waste time on such
insoluble problems? To this one ey answer as a
historiat, or as an individual facing the terror of
costric loneliness,

The atizwer of the historian, in so far as Tam
capable of giving it, will appear in the course of this
worle, Ewver since mmen became capable of fiee
gpeculation, their actions in innamerable irmportarnt
respects, have depended upon their theoties as to the
wirld and human life, as to what is good and wiat is
evil. Thizis as true in the present day as at any former
time. To understand an age or a nation, we st
mnderstand itz philosophy, and to understand its
philosophy we must ourselves be in some degree
philosophers. There is here a reciprocal causation: the
cirowmnstances of men’s lives do nuch to detenmine
their philosopley, tot, comwersely, their philosophy
doezmuch to detenmine their droumstances.

There is also, however, a more personal
answer. Acience tells us what we can know, ot what
we can know iz little, and if we forget how rmach we
cannot lmow we may become insensifive to many
things of very great importance. Theology, on the that
tand, induces a dogmatic belief that we have
lmowdedge, where in fact we have ignomnce, dhdbby
doing =0 generates a land of impertinent ig=olénce
towards the universe.

Uncertainty, in the presence afgivid hopes
and fears, 15 pain flu, but must he endured i wewidh
to ive without the support of coraforting fairy tales. It
15 not good eiher to forget Cihe oqlestions that
philosophy asks, or to persuade ourselses that we have
found indubitable answers 10 then, To teach how to
live without certainty, andwetSeithout being paralyzed
by hesitation, iz @petlaps “the chief thing that
philosophy, it our age, canstill do for those who study
it
131, Thepupese fphlosophy 1510

a. OF.educk uncertainty and chaos

b, Help us to cope wath uvncertainty and

arnbi ity

£ Help usto find exxpiation for uncettainty.

d. Reducetheterror of costmic loneliness.
132, Based on this passage what can be concluded

about the relation between philosophy and

scietice?

a. Thetwnoare antagoristic.

b, Thetwo are corplimentaty.

c. Theteiz norelation between the two,

d. Philosoply derives from science.

133, From reading the passage, what can be
cotcluded about the profession of the author”
Heis most likely MOT tobea

a. Historian

b, Philosopher
c. Scoientist

d. Theologian

134, According to the author, which of the
followang staternents ahout the natwre of the
uriverse trust be defindtely true?

The universe has unity

Theuniversehas a pupose

Theuniverseis evolwing tovwards a'goal.

Mone of the above,

oo

PASSAGES3

If translated into Engdish, mist of theS@&ys economists
talle among themselves would sound plausible enough
to poets, joumalists, businessepeople, and other
thoughtfil thoughgidneconomical foll Like serious
talle arywhere amongdioat designers and baseball fans,
say — the falls iz hard 4o follow when one has not
made a hahit of ligtening to it for a while. The culture
of the conweksation malees the words arcane. But the
people i the unfamiliar conversation are not Mlartians.
Updernéath) St (the econormist’s favonte plrase)
porversatianal habitz are similar Economics uses
mathematical models and statistical tests and market
argurtients, all of wiich look alien to the literary eve.
But looked at closely they are not so alien. They may
be seen az figures of speech — metaphors, analogies,
and appeals to autharity,

Figures of speech are not mere frills. They
thinl for us. Someone who thinks of a market as an
‘invigihle hand’ and the organization of worle as a
‘production function” and itz coefficients as being
‘sgnificant’ as an economist does, is giving the
language a lot of responsibility, It seems a goodidea to
took hard at his language If the economdc
cotwrersation were found to depend a lot on its verbal
fortms, this would not mean that economics wodd be
not a science, or just a matter of opindon, or sotne sort
of confidence game Good poets, though not scents,
are serious thinleers about syrrhols, good historians,
though not scentists, are seious thinkers about data
Good sciertists also use language “What is more,
(though it rerrains to be shown) they use the conring
of language, without particulady meaning to. The
langage used 15 a social object and using lanmmge is
a socdal act [t requires cumning (or, if you prefer,
cotsideration) attertion to the other minds presett
whet one speakss.

The paying of attertion to one’s audience iz called
‘thetonic’, a word that [ later exercise hard. One uses
thetoric, of course, to warn of a fire in a theatre or to
arouze the zenophotia of the electorate. This sort of
yelling iz the vulgar meaning of the word, lile the,
presidents ‘heated thetoric” in a press conference or
the “mere thetoric’ to which our enernies stoop. Since
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the Greek flarne was lit, though, the word has been
used also in a brander ad more atriable sense, to mean
the study of all the ways of accomnplishing things with
language: inciting a mob to Iynch the accused, to be
sure, but also persuading readers of a nowel that its
chatacters breathe, or bringing scholars to accept the
batter arqument and reject the worse,

The question is whether the scholar — who
usually fancies himeelf an announcer of ‘results’ ora
gtater of ‘conclusions’, free at rhetoric speaks
thetorically. Does he try to persuade? It would seems
go. Language, [ just said, iz not a =olitary
accomplishment. The scholar doesn’t spealt into the
void, or to himeelf He speaks to a comrmunity of
woices. He dedires to be heeded, praised, published,
irmtated, honored, eu-tobeled. These arc tan desires.
The devices of language are the means,

Fhetotic iz the propotticndng of means to
desites it speech. Bhetonie iz an econotmics of
language, the stady of how scarce means are allocated
to the insatiable desires of people to be heard. It seetns
on the face of it a reasomable hypothesiz that
econotists are like other people in being talkers, who
desire listeners. Why they go to the library or the
labhoratory as nich as when they go to the office o
the palls. The purpose here iz to see if this is true, and
to see if it iz usefil: to study the rhetoric of econotmic
scholarship.

The subject is scholarship. It is not the
econonty, or the adequacy of econornic theory as @
description of the economy, or even mainlfthe
economist’ s role in the economy. The subjelh isfthe
comversation economists have among theffiselves, for
purposes of persuading each other that the irferest
glasticity of derand for investment is zero \or that the
money supply is cortrolled by the Fedesal Foeserve.

Unfortunately, though the éonclusions are of
more than academic intergst. The conversations of
classicists or of astronomers rarelshaffect the lives of
other people. Those ofNechmotnists do so on a large
scale. A well knowgl fakedescriibes a Way Day parade
through Fed Sguare\wathtthe usual mass of soldiers,
guided mmissiles) ragket launchers. At last come rank
mon mnk el people in gray business suits. A
by stander agls, “Who are those?™ “Ahal™ comes the
reply, Silageare economists — you have no idea what
dathagethey tan dol”™ Their conwerzations do it.

135, According to the passage, which of the
following iz the best set of reasons for which
one needs to “look hard” at an economist's

language?
A Economists acconplish a great  deal
through their language,

B. Economicsisan opindon-based subject.

C. Econotrics has a great impact on other's
lives.

. Economicsis damagng.
A andB
CandD
AandC

d BandD

136, In the light of the definition of thetoric gven
in the passage, which of the folloging, will
havetheleast element of thetornc?

a.  An dlection speech
b, An adwvertisement jinglé

oo B

c. Dialogues in aplay
d. Commrnands given by arpry officers.

137 Asused inthe paszsage, which ofthe fculln'mng
15 the closest meaning 0 the statement, “The

culture of the Bonvépsation malkes the words
arcane?™

a. (Econorgstebelong toa different culture,

b Only /Jrathematiclans can understand
ECOTIOMists.

c. Econonizts tend to use terms unfamiliar ta
the lay person, btut depend on frniliar
linguistic fémis.

d. Econotrists use sitriles and adjectives in
theitr analyas

138, Asusedinthe pazsage, which ofthe fllowing
1sthe clozest altemative to the word ‘arcane’

a. Mystenous
b, Secret

c. Cowert

d. Perfidious

139 Baszed on your understanding of the passage,
which of the following conclusions would you
agree wiath?

a. The geocentric and the heliocentric wiews
ofthe solar system are equally tenable.

b, The heliocentric view is superior because
of hetter thetoric.

c. Both wiews userhetoricto persuade.
moientists should not use thetoric,

PASSAGE 4

There ate a seemindy endless variety of laws, restricticor,
customs atud traditions thet affect the practice of abortion
around the world Globally, abortion iz probably the single
mogt controversial issae in the whole area of women’ s rights
ad family matters. It is an issue that inflames women's
tight growps, religous instibations and the self-procdamed
‘ouardians of public mordity. The growing worldeide
belief is that the right to control one’s fertility 15 a bhasic
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bowman right; fhis has remilted in a worldwide trend tow ards
liberdlization of shotion laws Forty percert of the world's
poplation lves in cowdries where induced shortion is
permitted on recquest An additional 25 percent Hwve it
cotrdties where it iz dlowed if the womertt's life woudd be
enndatizered if she wert to fuldl term with her pregnancy. The
egtittiate iz that between 26 and 31 million legd ahottions
were petformed in 1987 Howewrer, there were also between
10 ard 22 milli o dle gl abortions performed in that year,

Feminists have wiewed the patriarchal cordrol of women's
bodies as one of the prime issues facing the cortemporary
womeny's movement. They observe that the defirition and
control of women's reproductive freedom has always been
the province of men Patriarchal religion, as manifest in
Tdlatmic fundamentalism,  traditionslist Hindo  practice,
otthodox Judadsm, and Foman Catholicism, has heen an
iuportart kgorical cortribotory factor for  this  and
contitmies to be an immporfant presenice in contemporary
societies. In recent times, govertanents usually controlled
by ety have * given” womern the tight to contraceptive use
and ahortion access when their courtries were perceived to
have an overpopndati o problem. When these courdries are
percetved to be under populated, that right has been absent.
Uil the rineteenth cenbry, a woman's rights to an
ghottion followed English congnon law;, it codd only be
legally chall enged if there was a ‘quickening | when the first
movemerts of the foetas codd be felt. In 1800, drags to
iduce  dhorions  were  widey  advertised in local
rewsgpapers. By 1900, abortion was banned in every state
except to save the Life of the mother, The change was
strongly influenced by the medical profession which
focused its campaizon ostenably on heath and safety ismues
for regnart women and the sanctity of life. [ts postion was
dlso ameans of control of nonlicensed medical practitioners
such as mideives shd wormen heders who pfactiged
ahortion

The ati-abortion campa gn was also influenced by
political considerations, The large infho@efyeastern and
soathern European immigy ants with theslarge fanilies was
seery as threat to the poprlation balanfe ofthe Higare United
States. Middle and Upper dass Protestdnts were adwocates
of abottion as a form of hivth coniolsBy aypporting
ghotti o probdbiticts the hope was that these Admmeticans
would have more childréu and ths prevert the tide of
immigrart babies from  owverwdielming the demographic
characteristics of Profestant famerica.

The arti-abortiofide s slative position retmained in effect in
the United Statesitireagh the first sintyefive years of the
tarertieth derdiior T the eatly 1 Q605 even when it was
widely, known  that the dnag thalidomide faken duing
pregnaticybo @l eviate acciety was duowen to cotttitede to
thefior mati crrof deformed “flippes-like’ hands or legs of
childrergabiorti crn wasillegal inthe United Slates. & second
heath tragedy was the sewere outhreal of nubella during the
satne time period, which also resulted in major birth defects.
These tragedies coambitied with a change of attitude towards
a wormat's right to privacy led a mamber of states to pass
b orti oo pertnd ting el slati o

O ot side of the controversy are those who cdl
themselves “pro-lfe’. They view the foetos us alnynan life
rather thaty as an wnformed complex of cells; therefore they
hold to the belief that abortion iz essertially muwrder of an
wibort child. These growps cite both legal and regions
reasons for thelr opposition to sbotion Prolifers poind to

the rise it legalized abortion figwe and see this as morally
irtolerable. On the other side of the issie are those who call
themselwves “pro- choice’. They beliewve that womern, not
legslators or judges, showld have the right to decide whether
and wnder what circwn satices they will bear children Pro-
choicer are of the opinion that 1aws will not prevent women
fromn having abottiohs and eite the hott o stories of the past
when maryy women ded & the hands of “backroom’
dhorticrists and it desperate atempts to self abort. They
dan ohserve that legalized shortion is especidly important
for rape wictims and incest wictims who became pregnant.
Therr stress phorsicd and mental hedlth reazons wir Wamen
ghoud d not have wnweanted chil dren

To get a better understanding€af the Qourrent
dhortion controver sy, 1ot us examine o wey nportant worl
by Rristin Luker titled Abortiondand “the PFoliics of
Iiotherhood. Liker argues that female pro-choice and pro-
life activists hold different wofld A ewgpegarding sender,
sex, and the meaning of paterthoode Mora podtions on
ghotticns ate seetn to he ted itdimately to views on sexual
behad o, the care of clildren, fanily 1ife, technlogy, atd
the importance of fhe ifdividibal. Diker identifies “pro-
choice’ women ag edicatetl affluert, and lberal. Thei
cottrasing  ofnterpartsd pro-life’  women,  syport
traditional concepts of wottien as wives and mothers Tt
wold be inspactive to sketch ot the differences in the
wotl daews of Hese taro sets of women. Luker examines
Califormé witly its lberdized aborfion law, as a case
kistory.(Fublic docwrients and newspaper accowds over a
tatetdy-vear period were atalyzed and over 200 interviewrs
wrere eld with both pro-life and pro-chodee activists,

Luker found that pro-life and pro-choice activists
have ittrinsicdly different Aews with respect to gender.
Prolife women have a notion of public ard private life. The
proper place for men is in the pablic sphere of work, for
womety, it iz the private sphere of the home. Men benefit
through the martarance of worten, women benefit through
the protection of et Childret ate seen to be the Wimate
bereficiaries of this arrangement by having the moother us a
fudl-timee lovitg parert and by having o ear role models, Pro-
choice adwocates reject the wew of separate spheres. They
object to the notion of the home being the “women's
gohere’, Wotnen)'s reproductive and family roles are seen as
potertial harriers to full ecquaity, Mlothethood is seen as a
ol ey, not a mandatory o ‘natural” role.

In Jumimarizing her findings, Tuker believes that
women become activists in either of the o movemernts as
the end resalt of lwves that center around different
coticeptudizations of mothethood. Thedr beliefs and walues
are rooted to the conerete droumdances of their lives, their
echicationg, incatmes, occupations ad the diftent moatital and
family chioices that they have made They represent two
differert world wiews of women's roles in contemporay
society and as such the aborbion issues represent the
hatfl egronand for the justifi cati o of their respe ctive Aews.

140, According to your understanding of the
author’s argument which countries are more
likely to allowabortion?

a. India and China
b, Australia and Mongolia
c. Carmot be inferred from the passage




d. Both(a)and (b)

141, Which amongst these was NOT a reason for
banning of abortions by 19007

a. Medical professionals stressing the health
and safety of wormen

b, Influx of eastern and southern European
intrnigrants.

c. Cortrol of
practitioners

d. A& tradition of matnarchal control.

142, A prodife woman would advocate abortion if
a. Themother of an unbom child issuicidal

b, Beating a child conflicts with a womean's
CAteer prospects.

c. The mother
accidentally.

d. Mone ofthe above,
143, Pro-choice women object to the notion of the

home being the “women’s sphere’ because
they believe

a. That the home iz a “joint sphere’ shared
between men and wornen

urlicensed medical

hecotmes preghatt

b, That reproduction is a matter of choice for
WAOLILET

c.  That menand women are equal
d. Baoth (b and ()
144, Two health tragedies affecting I3 sogietyin
the 1960z1ed ta
a. A change in attitude to wornend s nght 40
privacy
b, Eetainng the anti-gbortion laws wath
some exceptions
C.  wcrapping to andi-abortiosbldes
d. Strengthening ofthe prgdlife lobby.
145, Histoncally, the pro-ehoice movement has got
support fotn, ataong others
a. Majenpattiarchal religions
b Caridri ez with low populations density
c. toedical profession
i. “klone afthe above.

PASSAGE 5

The production of histories of India has become wery
frequent in recent years and may well call for some
explanation. Why so many and why this one is
particular? The reason iga two fold one: changes in the
Indian scene requiring a reirterpretation of the facts
and changes in attitudes of histonans about the
essertial elements of Indian history. These two
conddemtions are in addition to the normmal fact of

fresh information, whether in the form of archeological
dizcowveries throwing fresh light on an obscure period
or culture, of the revelations caused by the opening of
archives or the release of private papers. The changes
ity the Indian scene are too obwious to need ergphasis.
Oy two generations ago British rule seetned to tmost
Idiat az well as British observers likely to extend into
at indemnnity foture; now there is a teenage generation
which knows nothing of it. Changes in the attitudes of
tistorians have ocourred everywhere, changes in
atitudes to the cortent of the subject as well%as to
patticular countries, but in ndia there hay®Been sofae
special  features. Prior to  the Biitish, Indian
hstoriographers were mostly LMuslims, wihia relied, as
i1 the case of Sayyid Ghulam Hissain, on theit own
recollection of events and on infortnation fom fiends
and men of affairs. Only & few LlkewAbul Fazl had
access to official papers), These were personal
ramatives of events varying inSalile with the mature of
the writer; the eady™British ssriters were officials. In
the eighteenth centurythey were concerned wath some
aspect of Company policy, or, like Fobert Onme in his
IWlilitary Transactions, gave a straight narrative in what
was esgentially a contirmmtion of the IWuslim tradition.
In the early mineteenth cenhuy the wiiters were still,
wath“twio notable exceptions, officials, but they were
hiow engaged in chronicling, in varying moods of Zest,
mride, and awe, the rise of the Brtish power in India to
supretracy. The two exceplions were James Mill, with
lns” catical attitude to the Company and Joln
Iflarchiman, the Baptist missionary. Bt they, like the
officialz, were ango-centric in their attitude, so that
the history of modem India in their hands came to be
the history ofthe nse of the British in India.

The official schodl dominated the writing of
Ihdian history wuntil we get the first professional
hstorian’s approach, Famsay Wuir and P. E. Eoberts
i1 England and HH. Dodwell in India Then Indian
hstorians trained in the English school joined i, of
whotm the most distinguished was 5ir Jadunath Sarkar
atid the other notable writers: Surendratath Sen, Dr
Fadhalunmd Whalzerji, and Professor Milalanta Sast.
They, it may be said, restored India to Indian history,
it their hias was mainly palitical. Finally have come
the nationalists who range from those who can find
nothing good or true in the British to sophisticated
historical philosophers likke K IV Panildeer,

Along with types of historians with their
varying bias have gone changes in the attitude to the
cottent of Indian history, Here Indian histotians have
been influenced both by their local stvation and by
changes of thought elsewhere, [tisin this field that this
work can claitn somme attention snce it seeks to break
new ground, or pethaps to despen a feshly tumed
furrowr in the figld of Indian history, The eatly official
tistorians were content with the damour and drama of
political history from Flassey to the Nutiny, from
Dnplex to the Sikhs But when the mi was settled
dowr, glamour depatted from politics, and they tumed




0
to the less glorious ot rmore solid ground of
adtrini stration. Mot how India was conguered but how
it was governed was the theme of this school of
historians. It found itz archpriest in HH. Dodwell, its
priestess it Dame Lilian Penson, and its chief shrine in
the Wolutme W1 of the Cambridge History of India
Meatrwtile in Britain other currents wetre moving
which led historical study into the econotmic and social
fields. B.C. Dutt entered the first of these curents with
bz Feonomic History of India to be followed tnore
recently by the whole growp of Indian econotric
historians, W.E. MMoreland exdended these studies to
the Mughal Period Social history iz now being
increasingly stadied and there is also of course a
echoaol of nationalist historiang who see modern Indian
hstory in terms of the fise and the fulfillment of the
rational movement.

All these approaches have value, but all share
in the quality of being compartmental. it is not enough
to remove political history fom itz pedestal of being
the orly kind of history worth hawving 1F it iz merely to
put other types of history inits place. Too exclusive an
attention to economic, social or adtnirdstative history
catt be as stenle and midleading as too rmach
concentration on politics. A whole subject needs a
whale treatment for understanding. A historian mvst
dizzect his subject into its elements and then fiaze them
together again into an integmted whole, The tme
history oa country rst contain all the features just
cited but st present them as parts of a single
consistent theme,

146, Which of the following may be the closgst ifl
meating to the staternent “restorsd India to

Indian Hstory?™

a. Indian histonians begangdvamiting Indian
history

b, Tmined ‘histofians began writing Indian
history

o Writingdndiascentiic ndian history began
d. Indian history@began to be wntten in India
147, Which BofNthe folowing is the closest
irfplication of the staternent “to break new

ground, oF pethaps to despen a feshly tumed

148,

149,

150

a. Digafresh or dig deeper

b, Stat a new stream of thought or help
establish a recerntly emerged perspective

c. Begn or conduct farther work on existing
archeological  sites to  unearth  new
evidence,

d. Begn writing a history free of any biases.
Histonan moved from writing political history
to wnting administrative history hecause

a.  Attitude of the historian changs

b, The "Eaj’ was settled dowm

c. Politics did not retain itefiast glamour

d.

Administrative Hstord was based on solid
ground

According to the), outlifie which of the
following iz not amongthe attitude of Indian
historian ofdndian oigin?

a.  Writiio afotves persotial narative
b, Ariting bisttry with political bias

c. WWriting non-political history due to take of
olatiéur

d. Writing history dissecting elements and
integrating them again

In the table given below match the historian to
the approaches taken by them.

& Admiristrative

Folitical

. Marrative

. Economic
Fohert Crme
H.H. Dodwell
Fadralurmud hukhar)i
E. C Dutt
A-2,B-3,C-1,D4
A-1,B-2,C-3, D4
4-3B-2,C-1,D4
A-2. B4, C-1,D-3
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